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1. 

	1. B

2. B

3. A

4. B

5. A
	1 point per correct answer; 5 points total possible


[image: image1.png]Hp + Cl—> 2HCI

‘Which of these describes the rate of this
chemical reaction?

A

an increase in the concentration of HCI and
H, with time

an increase in the concentration of HCI with
time

anincrease in H, and Cl, with time
adecrease in HCl and Cl, with time




2.

[image: image2.png]2C0 + 0y = 2C0,

If the above reaction takes place inside a
sealed reaction chamber, then which of these
procedures will cause a decrease in the rate of
reaction?

A raising the temperature of the reaction
chamber

B increasing the volume inside the reaction
chamber

€ removing the CO, as itis formed
D adding more CO to the reaction chamber



[image: image3.png]A catalyst can speed up the rate of a given

chemical reaction by

A increasing the equilibrium constant in favor
of products.

B lowering the activation energy required for
the reaction to occur.

€ raising the temperature at which the reaction
oceurs.

D increasing the pressure of reactants, thus

favoring products.




3.

[image: image4.png]catalyst
CHg + Br, — CgHgBr + HBr

Which of the following changes will cause an
increase in the rate of the above reaction?

A increasing the concentration of Br,
B decreasing the concentration of CgHg
C increasing the concentration of HBr
D

decreasing the temperature



[image: image5.png]H,0,, hydrogen peroxide, naturally breaks
down into H,0 and O, over time. MnO,,
manganese dioxide, can be used to lower the
energy of activation needed for this reaction
to take place and, thus, increase the rate of
reaction. What type of substance is Mn0,2

A acatalyst
B anenhancer
€ aninhibitor
D areactant




6. Does a reaction stop when it reaches equilibrium? JUSTIFY YOUR EXPLANATION

	A reaction does not stop when it reaches equilibrium. A reaction is constantly running, but at equilibrium the rate of the forward reaction is equal to the rate of the reverse reaction and dynamic equilibrium is established. While the rates are equal, the reaction has not stopped.
	1 point for stating reaction does not stop

1 point for mentioning rates of reaction in justification


7. What does Le Chatelier’s principle state?

	Le Chatelier’s principle states that when a stress is introduced into a system, the equilibrium will shift in order to reestablish the equilibrium.
	1 point for stating the principle


Use the following reaction for the next 5 questions. You can answer shift left, shift right, or no impact.

UO2(s) + 4HF(g) + Energy ⇌ UF4(g) + H2O(g)

8. If I increase the temperature, then the reaction will _________________________

9. If the pressure is increased, then the reaction will __________________________
10. If more HF is added to the system, then the reaction will ____________________

11. If UF4 is removed, then the reaction will _________________________________

12. If H2O is added, then the reaction will ___________________________________

	8. Shift right

9. Shift right

10. Shift right

11. Shift right

12. Shift left
	1 point for each answer; 5 points total possible


District 9 Assessment Final Scoring Guide

	Total Points Possible
	13

	Points Required for a 90%
	12

	Points Required for a 80%
	10

	Points Required for a 70%
	9
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